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Updated 9 Lab Simulation Questions, See from Full Version. 
 
QUESTION 1 
What 802.1x role is responsible for moving a port to the authorized state? 
 

A. Supplicant 

B. Authenticator 

C. Authentication Server 

D. RADIUS Server 

 
Answer: B 
 
 
QUESTION 2 
Drag and Drop Questions 
 

 
 
Answer: 
 

 
 
 
QUESTION 3 
Refer to the exhibit. Based on the diagram, what two design requirements must be met? (Choose 

http://www.lead2pass.com/640-722.html
http://www.lead2pass.com/


★ Instant Download ★ PDF And VCE ★ 100% Passing Guarantee ★ 100% Money Back Guarantee 

 

                                                                                
Get Latest & Actual 640-722 Exam's Question and Answers from Lead2pass.                                 
http://www.lead2pass.com 

3 

two.) 
 

 
 

A. WGB is Autonomous 

B. WGB is Universal 

C. WGB can be Autonomous or Universal 

D. Upstream AP is Aironet 

E. Upstream AP is not Aironet 

F. Upstream AP can be any make/model 

 
Answer: AD 
 
 
QUESTION 4 
An engineer is gathering information for a wireless survey of a hospital. What three pieces of 
information must be collected for an active survey to assess the outcome best suited for the 
facility? (Choose three.) 
 

A. presence of microwave ovens 

B. number of patients that are at the facility 

C. utilization of Location Services or voice applications 

D. floor plans of adjacent facilities 

E. use of wireless for secure records 

F. spectrum analysis to locate all the computer work stations 

G. existing Network Switch types and model numbers 

H. type of devices present on the new wireless network 

 
Answer: ACH 
 
 
QUESTION 5 
A customer mounted three new APs in a small business. After configuring the IP address, users 
still could not access the web through the new access points. What two configurations are 
needed to fix this? (Choose two.) 
 

A. Security parameters 

B. Gateway address 

C. Service Set ID 
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D. Antenna option 

E. EAP Authentication 

F. Unique AP Name 

 
Answer: BC 
 
 
QUESTION 6 
Refer to the exhibit. An engineer wants to setup a mobility anchor for the Guest WLAN, but does 
not see the Anchor IP address listed in the drop-down.  
What is the most likely cause of this problem? 
 

 
 
 

A. The mobility anchor is currently unreachable. 

B. The mobility anchor must also be included in the mobility group of the WLC. 

C. Layer 3 Security must be configured for Web Policy Authentication. 

D. The mobility anchor is attached to another WLAN. 

E. Layer 3 Security must be configured for Web Policy Passthrough. 

 
Answer: B 
 
 
QUESTION 7 
Drag and Drop 
 

 
 
Answer: 
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QUESTION 8 
Which two pieces of information are needed for the wireless client to connect to the wireless 
network? (Choose two.) 
 

A. SSID 

B. security settings 

C. channel number 

D. AP name 

 
Answer: AB 
 
 
QUESTION 9 
Refer to the exhibit. In WCS, what Monitor submenu would provide the table shown? 
 

 
 
 

A. Clients 

B. Access Points 

C. Controllers 

D. Security 

E. Alarms 

 
Answer: A 
 
 
QUESTION 10 
Which of the following are three functions of Cisco RRM? (Choose three.) 
 

A. TPC 

B. intercontroller roaming 

C. dynamic channel assignment 
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D. intracontroller roaming 

E. coverage hole detection 

 
Answer: ACE 
 
 
QUESTION 11 
Lab Simulation 
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Which four levels of messages will be sent to the logging server? (Choose four.) 
 

A. alerts 

B. critcal 

C. debugging 

D. emergencies 

E. errors 
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F. informational 

G. notifications 

H. warnings 

 
Answer: ABDE 
Explanation: 
There are a total of 8 logging severity levels. They are: 
 

 
We can see from the output that the severity level was set to Critical, which means that all 
messages level 3 and less will be sent. 

 

QUESTION 12 
An engineer is troubleshooting why wireless clients have not been able to connect to the network. 
Where would an engineer verify the total number of excluded clients in the last day? 
 

A. Security > Miscellaneous 

B. Security > Rogues 

C. Alarms 

D. Events 

E. Clients > Troubleshoot 

F. Access Points 

 
Answer: A 
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